Efficiency vs P,

T
O
U

o
© »
~_ O

[ [

.................................................

efmciency vs p

0.35f--+eeeseieneseneenes e o
0.3F -eeeerieresesenenbn
L S (ICRIESIoN TSRS SRS
0.2F e T ST TR P SRR
o *
O L LR
O AR SRIERR SRRRRR
0.0BF -+ +esferenenenensibin
E = ] ] ]

H
T
—_—3—F

— 3
107 1 10 '}BZF’T (Ge\}P

—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM_fitted4_1000evt

= 0.2 . . . ; ;

T e e

forgh oty

s Tt o

L S LT R
B9 S 1.1V s
0.08F

0.06f-

0.04:—

0.02

Ratio

===
*y

Efficiency vs @

Coo L d
0 T
+4‘+++j++++ +++ t ++++++++++

e R e A A

T
009
007
Y0 RS RN FAE R

o\ = NN N . |

.U

Ratio

0.95L




	Contents
	Page 1


